Paper / Subject Code: 32601 / Internal Combustion Engines
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(3 Hours) [Total Marks: 80]

Note: 1 Q.No.l is compulsory.
2. Attempt any Three question from Q.No.2 to Q.No.6
3. Make suitable assumptions if required

Q.No.1 Solve Any Four 0(5;.4)

a) A 4-stroke petrol engine delivers 40 kW with the mechanical efficiency of 8

The fuel consumption of the engine is 0.4 kg/kW-hr and air-fuel ratio is I

The hegtin_g_ value of the fuel is 43000 kJ/kg. find ®

e indicated power, (b) The friction power, (¢) The brake fficiency,
' hour and (e) The air consumption

iciency of actual cycle is

it with the phenomenon of

llation curve of the fuel?

ced diesel engine operating at  (12)
t full load. The Willan’s line
4, with the slope of the line
engine is 2.46 kg/h at
cg. Evaluate (i)
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